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PUBLIC ADMINISTRATION
PAPER - 11I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who among the following has defined Public Administration as ‘the action part of
government, the means by which the purposes and goals of government are realized’ ?

(A) Corson and Harris (B) L.D. White
(C) Felix A. Nigro (D) Woodrow Wilson

2.  Arrange the following in a sequential manner :
(i)  The Minnowbrook Conference I
(i) The Philadelphia Conference on the Theory and Practice of Public Administration
(iii)) The Honey Report on Higher Education for Public Services

(iv) Publication of the Book Towards a New Public Administration : The Minnow-
brook Perspective (Frank Marini)

Codes :
(A) (iv), (iii), (i1) and (i) (B) (i), (ii), (i) and (iv)
(C) (i), (iv), (1) and (ii) (D) (i), (i), (iv) and (ii)

3. Which of the following statement/s related to Kautilya is/are wrong ?
(1)  Arthashastra provides philosophical foundation of monarchical government.

(i) Kautilya elaborated the principles of administration governing the activities of
various elements of state.

(i11)) Kautilya enumerates seven essential organs of the state.
(iv) Kautilya has not explained methods of corruption.
Select the correct answer by using code given below :

Codes :
A) @) B) @) & (i)
© v (D) (ii) & (iii)

4.  The view ‘Taylor’s principles of Scientific Management are alive, well and ready for 21"
Century and organizations adopting Total Quality Management (TQM) practices are
employing concepts which were advanced by Taylor’ is expressed by

(A) R.M. Hodgetts and R.Greenwood (B) L. Gulick and L. Urwick
(C) F.E.Kastand J.E. Rosenzweig (D) Daniel Katz and Robert L. Kahn

5. Who of the following is not a follower of Taylorism ?
(A) Carl G. Barth (B) H.L. Gantt
(C) Harrington Emerson (D) Fritz J. Roethlisberger
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6.  Consider the following statements about intention decision-making :
(1) Itis the conscious process.
(i1) It can be powerful force in decision-making.
(ii1) Itis fast.
(iv) It relies on holistic association.
Select the correct answer by using code given below :

Codes :
(A) (1) and (i1) (B) (i), (i1) and (iii)
(C) (1), (ii1) and (iv) (D) (ii) and (iv)

7.  The reflections of Karl Marx’s views on bureaucracy were first found in
(A) Critique of Hegal’s Philosophy of Right
(B) Class Struggles in France
(C) The German Ideology
(D) First Volume of Capital

8.  Consider the following statements about Luther Gulick and Urwick :
(1) They edited a book entitled ‘Papers on Science of Administration’.
(i1)  Gulick was born in Japan.
(iii)) Both had experience of Civil Service, Military Organisation and Public
Undertaking.

(iv) Gulick had written a book entitled ‘Elements of Administration’.
Select the correct answer by using code given below :

Codes :
(A) (1) and (i1) (B) (i) and (iii)
(©) (1), (1) and (iii) (D) (1), (iii) and (iv)

9.  According to Chester Barnard, an organization is
(A) amatter of structure
(B) apejorative sense of bureaucracy
(C) asystem of consciously coordinated activities
(D) afigure of organization man

10. The ‘Frustration Regression’ dimension is a part of which of the following ?
(A) McClelland theory of need (B) Expectancy theory
(C) Porter and Lawler theory (D) ERG theory

11. Arrange chronologically Likert’s four systems of Management :

(1) Participative (i1) Benevolent Authoritative
(i11) Consultative (iv) Exploitative-Authoritative
Select the codes :

(A) (), (i), (iii), (iv) (B) (@v), (i1), (ii1), (1)

(©)  (v), (i), (1), (1) (D) (i), (iv), (@), (111)

Paper-111 4 D-14-14



10.

11.

FFA-ITOT TafuTa St Fefeiad et W foar i

() T I U E |

(i) I faforEe o vfeeet ae1 & FehaT € |

(iii) FEATE |

(iv) I% 990 99§ {avemq aar ¢ |

e fe2r 2t W W el TR T I I

HE:

(A) (i) 3R (i) B) (), (i) R (i)
(©) (i), (iii) 3R (iv) (D) (ii) 3R (iv)

FIeTEl & IR | 17 0 F e et TreRd o farem o1 e uid e e T 2
(A) Toplesh 3Tk Eer’ T fheTr TRl 31T e

(B) T TN o Wi

(C) < > amefeamanstt

(D) W diegH T Hyee

R Tiersh T 3ok o T ¥ fefefad st W foaR it

() SR UTH ST e % USHFEe AT Y& T e R T |
(ii)  TfcToR ST ST STAE H g o |

(iii) T T AT T, Y= T TAT T ST T ST T |

(iv) TR A TleTi=y Sih USRI’ wies g fordt o |

< T Tl § ¥ el ST H 79I DT

;\W:

(A) () 3 (i) (B) (i) 3 (iii)
(©) (i), (ii) 3R (iii) (D) (i), (iii) &R (iv)
LT TS & AR TS T

(A) TS T H AHATE |

(B) RN o Sqehured] (FHeaTereh) wiar € |
(C) A ®Y Q GHla Tdtaraar sl sHee € |
(D) W AR FEAE |

el qmae = I fepgerr smam € 2

(A) TFAATS H NMEATTHAT (FTT (B) e fagra

(C) TIX Ud AR g (D) TS, A
ToTee ot W ol =R OGRSl SHICTRATER Sareerd o :

() Fewur (i) TRRT TP
(iii) R (iv) SNOUTRRT TS
T T I
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D-14-14 5 Paper-I11



12.

13.

14.

15.

16.

17.

Which of the following is a suggestion made by Chris Argyris for improving the personal
effectiveness of employees ?

(A) Matrix organization
(B) Sensitivity training
(C) Pyramidal structure

(D) Modified formal organizational structure

Which of the following is not a strategy for organizational change according to Chris
Argyris ?

(A) Improving interpersonal competence.
(B) Response to needs of mature individuals.
(C) Economic motivation.

(D) The organizational structure of the new system.

Who concluded that ‘productivity partly depended on the informal social patterns of
interaction in the work group’ ?

(A) J.B. Miner (B) Elton Mayo
(C) Helen Bourke (D) D. Bell

Pfiffner and Sherwood classified the staff agencies as
(1)  General Staff

(i1) Technical Staff

(i1i1)) Co-ordinating and Auxiliary Staff

(iv) Supportive Staff

Select the correct answer by using code given below :

Codes :
(A) (1), (1) and (iii) (B) (1), (iii) and (iv)
(C) (i), (ii1) and (iv) (D) (@), (i), (iii) and (iv)

Which one of the following is not a type of Informal Communication Network ?
(A) Gossip (B) Email
(C) Probability (D) Cluster

Who was of the view that real authority in an organization stems from a situation ?
(A) Henri Fayol (B) Max Weber
(C) M.P. Follet (D) F.W. Taylor
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18.

19.

20.

21.

Paper-111 8 D-14-14

Match List — I with List — II. Select the correct answer from codes given below :

List -1 List - II
a.  Public Choice Approach (1) E. Weidner
b.  Social Equity (i) Pfiffner
c.  Philosophy of Administration (i11)) Fredrickson
d.  Action-oriented Administration  (iv) M.E. Dimock
(v)  Vincent Ostrom
Codes :

a b c d
A) @ av) G ()
B) () @G @ @v)
© Gv) @) (i) (i)
D) (v) @) Gv) @)
Consider the following about Public Choice Theory :
(1) Itis an anti-bureaucratic approach.
(i) It advocates separation of politics from administration.
(i11) It favours institutional pluralism and individual preferences.

(iv) It promotes popular participation in administration.
Select the correct answer by using code given below :

Codes :

(A) (), (ii1) and (iv) (B) (i), (iii) and (iv)

(©) (), (i) and (iii) (D) (1), (i1) and (iv)
Match List — I with List — II. Select the correct answer from codes given below :

List -1 List - II
(Author) (Book)

a.  Peter Drucker (1)  Public Policy Making Re-examined

b.  Yehezkel Dror (i1) Public Administration in a Time of Turbulence
c.  Doughlas McGregor  (iii) New Ways of Managing Conflict

d. Dwight Waldo (iv) Human Side of Enterprise

(v) Management Challenges for the 21* Century

Codes :

a b c d
(A (v) (1) (@dv) (i)
B) (v) aG) Gv) @
©) (v) @v) (@) (i)
(D) Gv) (v) (i) (i)

“Administration cannot normally be improved very much without changes in the
environmental constraints that hamper its effectiveness, and the environment itself cannot
be changed unless the administration of development programmes is strengthened.” This

statement is by :
(A) Merle Fainsod (B) F.W.Riggs
(C) Donald C. Stone (D) V.A. Pai Pannadiker
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22,

23.

24.

25.

26.

27.

A case by case study not related to one another is called by Riggs as
(A) Ecological (B) Nomothetic
(C) Ideographic (D) Differentiation

In which of the following books, A.V. Dicey has given classical exposition of the Rule of
Law ?

(A) Comparative Study of Constitution

(B) Introduction to the Study of the Law and Constitution

(C) Justice and Administration

(D) Machinery of Justice in England

The Parliamentary Commissioner of Administration of U.K. has been responsible for :
(A) The study of all bills placed before the Parliament.

(B) The study of the administrative matters placed before the Parliament.

(C) Assisting the Speaker for administration of House of Commons.

(D) Looking into grievances submitted by members of Parliament.

Which of the following Commission proposed the use of performance rating in the U.S.
Government for the first time ?

(A) First Hoover Commission

(B) Second Hoover Commission

(C) National Commission on Public Services

(D) U.S. Advisory Commission on Inter-Governmental Relations

Assertion (A) : The pressure for practical results led to a switch from Comparative Public
Administration to Developmental Administration.

Reason (R) : Developmental Administration has become a powerful and subtle ideology
with the characteristics of a ‘world-grinding religion.’

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

What are the features of Administrative Development ?

(i)  Administrative policies and plans are determined by the Government.

(i1)) Administrative development means the development of administrative machinery.

(iii)) It comprises of desired change in the structure and functions of administrative set
up.

(iv) It is concerned with administrative culture.

Select the correct answer by using code given below :

Codes :
(A) (i), (ii1) and (iv) (B) (ii) and (iii)
(C) (i), (iii) and (iv) (D) (), (i), (iii) and (iv)
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28.

29.

30.

31.

32.

In the context of development administration the term ‘De-administered Development’ is
referred by

(A) J.N. Khosala (B) Bata K. Dey
(C) O.P. Dwivedi (D) V.A. Pai Panandiker

Which article of the Indian Constitution empowers the President to address members of
both the Houses of Parliament assembled together at the commencement of the first
session after each General Election to the Lok Sabha and at the commencement of the first
session each year ?

(A) Article—75 (B) Article-61
(C) Article — 87 (D) Article — 89

‘Indian states have been asking for greater federalism on one hand and on the other, when
it comes to taking the same federal spirit down the line, they are not ready to part with
powers.” This observation was made by

(A) Sarkaria Commission B) 12" Finance Commission
(C) Punchhi Commission (D) 2" ARC

Which of the following statements about the aims of Personnel Administration are
correct ?

(i)  Effective utilization of Human Resources

(i1)) Maximum Development of Employees

(iii)) Manpower Planning, Recruitment, Selection, etc.
(iv) Desirable working relations among all the members.

Select the correct answer by using code given below :

Codes :
(A) (1), (1) and (iii) (B) (i), (i1) and (iv)
(C) (1), (i11) and (iv) (D) (@), (i1), (ii1) and (iv)

Which of the following is not a part of the selection process for promotion of State Civil
Service Officers to the IAS/IPS ?

(A) State Government forwards necessary proposals for convening meetings of the
Selection Committee to the UPSC.

(B) The Central Government determines the promotional vacancies.

(C) State Government’s proposals are examined by the UPSC and the officers’
eligibility is verified.

(D) The State Government issues the letter of promotion to those whose eligibility is
verified.
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28.

29.

30.

31.

32.

T T % Ty § TRTHA-Ed T ol SagRon fhad Tt ¢ 2
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FETF TR & e A H P W B T w0
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(il) HIERET T ARIhad T

(iii) st e, s, @am ety

(iv) O 9 & o S S Ty

< 7 el | ¥ el U A FI7 I ;

T

(A) (), (i) 2R (iii) B) (i), (i) #R (iv)
©) (i), (iii)aﬁT @iv) D) @), (1), (iii)aﬁT @iv)
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1T T & 2
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33.

34.

35.

36.

37.

Which of the following is not the objective of Zonal Councils ?

(A) Promoting co-operation among States in the execution of development projects.
(B) Facilitation of the formulation of uniform policies.

(C) Resolving Inter-State disputes.

(D) Assisting the Union Home Minister in exercising control over Inter-State
Development.

Which of the following statements are correct with regard to the Constitutional provisions
in respect to the Union Public Service Commission ?

(i) Article 316 Appointment and term of members
(i) Article 317 : Public Service Commission for the Union
(i11) Article 320 Functions of Public Service Commission
(iv) Article 323 Reports of Public Service Commission
Select the correct answer by using code given below :
Codes :
(A) (), (D), (iid), (iv) B) (@), (i), (iv)
(©) (), (i), (iv) D) (), (v), (ii1)

Cordial Employer-Employee relationship is required in the organization for
(i) improving motivation

(i) increasing organizational output

(ii1) 1increasing organizational efficiency

(iv) building organization’s reputation

Select the correct answer by using code given below :

Codes :
(A) (1) and (i1) (B) (1), (i), (iii) and (iv)
(C) (1), (ii1) and (iv) (D) (iii) and (iv)

Under which of the following provisions, the District Collector in his/her capacity as a
District Magistrate can hear the cases pertaining to the disturbance to peace within his/her
jurisdiction ?

(A) The Code of Civil Procedure (B) The Code of Criminal Procedure

(C) The Indian Penal Code (D) The Indian Police Act

Consider the following recommendations regarding Panchayati Raj Institutions :

(i)  District should be the primary unit of devolution.

(i1) Political Parties should be allowed to participate in elections for these institutions.
(ii1)) PRIs should be subjected to social audit.

(iv) PRIs should be given power of compulsory taxation.

These recommendations were made by which Committee ?

(A) L.M. Singhvi Committee (B) Second ARC

(C©) G.V.K. Rao Committee (D) Ashok Mehta Committee
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33.

34.

35.

36.

37.

1 & @ o 91 8 uRug 6 AR @ ¢ 2
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T
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e <2 et § © WEl I H T HIC

E A
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38. Assertion (A) : B. Sivaraman Committee 1981 emphasized on a uniform approach to the

39.

40.

41.

problem of regional development.

Reason (R) : The Committee felt that special area development programmes were more in
the nature of palliatives.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Match List — I with List — II. Select the correct answer from codes given below :

List -1 List - I1
(Se;tclzllz(())(f) 51§ T1 (Provision)
a. 54) (i) Seeking assistance from other official/s within the Public
Authority by the P.I1.O.
b. 505 (i) Deemed Public Information Officer (PIO).
6(2) (iii)) Transfer of RTI application to other Public Authority.
6(3) (iv) Information seeker is not required to disclose the reasons

of seeking information.
(v) Time limits for disposal of RTT application by the PIO.

Codes :

a b c d
A @ ) Gv) ()
B) ) @ () av)
© Gy (v) (@v) (iii)
D) @ a) (@v) (i)

Which of the following statements about Lokpal Search Committee is correct ?

(A) It consists of 12 members including the Chairman.

(B) The recommendations of Search Committee are binding on the Government.

(C) It can recommend any other name other than the ones provided by the Government.

(D) It may withhold the opinion on the panel given by the Government for an indefinite
period.

‘Social Administration is the study of the Welfare System and particularly the government
sponsored social services.” This definition is given by

(A) Forder (B) Richard M. Titmus
(C) D.V. Donison (D) A. Kuper
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38.

39.

40.

41.
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a& (R) : AT = 3T Tora Top forw & Torehrr prshwl i Wepcl Ted: SIehl <t el & |
T :

(A) (A) 3R (R) T T&I & 3T (A) 1 (R) T&l TR ¢ |

(B) (A) 3R (R) SHI Tl €, W (A) F1 (R) Tl TR Tl € |

(C) (A) T& & W< (R) T & |

(D) (A) 7o 5, I (R) T & |

T — Il o — 11 3 T G e | = i 10 el Sl Feram § Tl SR 1 9 T

=t - 1 =t - 10
(G T AR (SU=)
arfafam, 2005 Hi
gr)
a.  5(4) (i) SHgET  SYER R Al WEERT %k Y I
TR/ AT T T St /T
b.  5(5) (i) AFTE ST SHRY
c. 602 (iii) 3T ATk MTHRT ol SR, 3L, STET T =0T
d.  603) (iv)ﬂﬁﬂﬁﬁﬁ%%@@ﬂ%ﬂﬁ%ﬂ@ﬁaﬁmmaﬁ%
|

(v) ST PR R L STE, ERA & FueH Tt — g0
ESit]

T
a b c d
A O () 3Gv) (v)
B) G) @ (v (@Gv)
(©) (i) (v) (@v) (ii)
(D) ®» G @>dv) (i)
RIS WIS W & g § FEfeiigd § 9 i |7 52 Tl € 2
(A) TTH 37eAeT Afed 12 TS e € |
(B) TN QAT o fawEl TR o fow st € |
(C) T% TN gR f5U 7T 1 o Afaiert fordt 3= 1 ol [awier Y Tt € |
(D) & TN FRT U7e7 W U T o ot AT et o fort Teh Tebelt € |

QTR TR ShodTuT S5erT, fasiy &9 | TR g1 WS QST Yaratl o 3t & | e
T Y fore g8 ufemr 57 & 2

(A) W (B) R=gww. feemm
(C) . eif e (D) THFR

D-14-14 17 Paper-I111



42,

43.

44.

45.

46.

Consider the following essentials regarding Administration which is called ‘Technology
of Social Relationships’ :

(i) Co-operative Effort (i1)) Change

(iii)) Groups (iv) Pursuit of common purpose
Select the correct essentials of Administration from the codes given below :
(A) (1) and (ii) (B) (1) and (iv)

(C) (i) and (iv) (D) (iii) and (i)

Which of the following statements about the Central Social Welfare Board is correct ?

(A) It was set up in 1953 on the direction of the National Commission for Scheduled
Castes.

(B) It was set up in 1963 by a resolution of the Government of India.
(C) It was established by a law of the Parliament.
(D) Its first Chairperson was Smt. Durgabai Deshmukh.

Who used the term meta-mega policies to cover both meta policies and mega policies for
the first time ?

(A) David Easton (B) Yehezkel Dror
(C) William N. Dumn (D) Kent E. Portney

Arrange the actual process of public policy in India :
(i) Policy Education (i) Policy Formulation
(ii1)) Policy Implementation (iv) Monitoring of Policy Implementation

Select the correct answer by using code given below :

Codes :
(A) (1), (i1), (ii1) and (iv) (B) (i), (1), (ii1) and (iv)
(C) (ii), (iv), (i1) and (1) (D) (), (ii1), (i1) and (1)

Which of the following is not a correct characteristic of optimal model of policy making
as given by Yehezkel Dror ?

(A) TItis quantitative and not qualitative.

(B) It has both rational and extra-rational components.
(C) Itis basic rationale to economically rational.

(D) It has much built-in feedback.
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42, TS @ Gt e etfardret w foar wifse, S amtees gy o Wi e S e

() TEIreTE wAH (i) R

(i) T9& (iv) THM YFSH B S S T
e fe2r et W W WA o Wel SNAvAs AT FH TIT HIT ;

(A) (i) 3R (i) (B) (i) #R (iv)

(C) (i) 3R (iv) (D) (iii) 3R (i)

43. HEIT GAS FHA0 9 & aR H T § F B TP Gel 0
(A) TTHT TTSH AL S ST ST % FS9 W ad 1953 | foar |
(B) TTH TS YRA THR o Ueh Tehed T 1963 H T T |
(C) ¥ H9% % U T G WA fohall T |
(D) SEeh o SreAel ot g o1 39 o |

44, TIATE T HM-ATET STl A B o (1T Femed fohae WA it e s ST TR 2
(A) g (B) ISTHeT IR
(C) faferaw @, s/ (D) HTE e

45. 9RA Y oAtk Aid ol Steres UishaT sl SHaRed hity ;

(i) T e (ii) e Fwor
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T 73 el H W Wel W H 95 R

T

(A) (), (i), (iii) 3R (iv) (B) (i), (i), (iii) 3R (iv)
(©) (i), (iv), (ii) 3 (i) (D) (i), (ii), (ii) 3R (i)

46. ALSTeHeT TN GRT WS AT 10T o 1Tehad Higer s (feriad | 9 i G Tel oo &l ¢ 2
(A) TE URHTES €, TOTHS Tl |
(B) 3 eI T dehal ST & e & |
(C) Te 31Tk T F ThH-TT & 1 THHER & |

(D) THH HIH! AT [ T |
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47. Consider the following characteristics of usable hypothesis :
(1) It must be conceptually clear.
(i) It should have empirical referents.
(ii1)) It must be general.
(iv) It should be relevant to the body of theory.
Select the correct answer by using code given below :

Codes :
(A) (1) and (i1) (B) (ii) and (iii)
(C) (1),(@1) and (iv) (D) (1), (i1) and (iii)

48. Which of the following helps in decreasing the sampling error ?
(A) Decrease in sample size (B) Increase in sample size
(C) Process of randomization (D) Process of analysis

49. The inadequacy of theory represents :
(A) Need for extension of systematic knowledge.
(B) Need for correcting the knowledge.
(C) In correctness in the knowledge.
(D) Gaps in the knowledge.

50. Which Committee observed that the right promotion at the right time is essential part of
the process of developing full talents of men and women in services ?

(A) Masterman Committee (B) Kiripalani Committee
(C) Fulton Committee (D) Gorewala Committee

51. A National Plan in India comprises of
(i)  Plans of the Central Government
(i1)) Plans of the State Government
(iii)) The plans outlay of the Central and State Public Sector Undertakings.
(iv) Plans outlay of the private sector.
Select the correct answer by using code given below :

Codes :
(A) (i), (ii) and (iii) (B) (i), (iii) and (iv)
(C) (i), (ii), (iii) and (iv) (D) (), (iii) and (iv)

52.  Which of the following is not the role of the Planning Commission ?
(A) It oversees development programmes of the Central Ministries.

(B) It suggests to the State Governments to reduce their fiscal deficit by reducing
expenditure.

(C) It recommends adjustment of policy and measures in the light of the appraisal of the
progress of plan implementation.

(D) It oversees the development progress of the State Governments with a view to
achieve coordination at the highest level.
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47.

48.

49.

50.

S1.

52.
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53.

54.

5S.

56.

57.

58.

Which of the following is not a department of the Ministry of Finance ?
(A) Department of Economic Affairs

(B) Department of Financial Services

(C) Department of Revenue

(D) Department of International Trade

The System of Accounting originated in 8500 B.C. in which of the following ancient
civilizations ?

(A) China (B) Babylonia

(C) Greece (D) Mesopotamia

Which of the following is not correctly matched ?

(A) Prof. RajalJ. Chelliah Tax Reform Committee - 1992
(B) Tax Administration Reforms Commission - 2014
(C) Choksi Committee — 1988
(D) Wanchoo Committee - 1971

Which of the following are true about the Comptroller and Auditor General (CAG) ?
(1) It assists the Public Accounts Committee in examining the Annual Audit Report.
(i1)) The CAG submits its Audit Report to the President.

(ii1) The CAG is accountable to the President of India.

(iv) The CAG submits three reports on Audit — Report on Appropriation Accounts,
Report on Financial Accounts and Report on Public Undertakings.

Select the correct answer by using code given below :

Codes :
(A) (1), (i1) and (iii) (B) (i), (iii) and (iv)
(C) (), (1) and (iv) (D) (1), (iii) and (iv)

All other public money received by or on behalf of the Government of India except money
received in consolidated funds, shall be credited in the

(A) Contingency Fund (B) Additional Fund
(C) Government Fund (D) Public Account

According to Expenditure Reforms Commission (2000) direct recruitment plan of all
cadres should be prepared by a Screening Committee consisting of :

(1)  Secretary of the Ministry concerned

(i1) Representative of the DOPT.

(iii)) Representative of the Department of Expenditure
(iv) Minister-in-charge of the Ministry concerned
Select the correct answer by using code given below :

Codes :
(A) (1), (11), (ii1) and (iv) (B) (i), (i1) and (iii)
(©) (), (ii1) and (iv) (D) (i), (iii) and (iv)
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53.

54.

5S.

56.

57.

58.

fefofad & | =i 1 ford wrerg 6t fomm =2 & 9
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E

(A) (@), (1) AR (iii) B) (i), (iii) AR @iv)
(©) (), (i) 3R (iv) (D) (i), (iii) 3R (iv)
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i ST e ST =it Tae &

(i) T G 6 9
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Elcg_d‘ :
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(©) (), (iii) 3 (iv) (D) (i), (iii) 3 (iv)
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59.

60.

61.

62.

Which of the following is not one of the reform proposals envisaged in the Budget for the
fiscal year 2014-15 ?

(A) Administrative initiatives to provide stable, transparent and investor-friendly tax
regime.

(B) Setting up of an Expenditure Management Commission.
(C) Providing thrust to the introduction of GST.

(D) Taking initiatives to reduce the scope for private sector.

What is correct about the Public Accounts Committee (PAC) ?

(1) It comprises of members from both the Houses of Parliament.

(i) Its members are elected on the basis of Single Transferable Vote System.
(iii)) The term of office of the members is one year.

(iv) A minister can become the member of this Committee.

(v) Its Chairman is appointed by the Speaker from amongst its members.

Select the correct answer by using code given below :

Codes :
(A) (1), (i1), (ii1) and (iv) (B) (1), (i1), (iv) and (v)
(C) (1), (ii1), (iv) and (v) (D) (1), (1), (ii1) and (v)

Assertion (A) : It is imperative to allow Tax Officers to develop specialization in their
work.

Reason (R) : Tax administrations without specialization among its officers suffer in
interfacing with high quality tax intermediaries.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which organization is created by Bretton Woods Conference in 1944 ?
(A) United Nations Economic and Social Council

(B) International Monetary Fund

(C) International Fund for Agricultural Development

(D) United Nations Industrial Development Organization
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59. o ¥ 2014-15 % folT asfe § FHrfafad § ¥ -7 U YR J1d St GehodT Tal € 2
(A) Ter, Reel T FaveREe w8 U8H F &g Tt e |
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(C) Suge ol A W A S |
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(i) 5% WS 1 (era Tehet HshHOMT Hel HOTell 3 3R O el € |
(i) 3 AT T HEHA T a9 T eIl & |
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qF (R) : 310 ARl § foeiusrar & omra § Y WeeH Sed-TRid TR aiet s e &
T STAHAT A § HISTS SIS FXAT & |

FHE
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(D) GgT T SirenfiTen forehrg e
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63.

64.

65.

66.

Match List — I with List — II. Select the correct answer from codes given below :

List -1 List - II

(Concepts) (Explanation)

a.  Capital (i) Expenditure accrued towards normal running of
Expenditure Government.

b. Revenue (i1)) Increase of a net credit to Central Government by
Expenditure Reserve Bank.

C. Gross Fiscal (ii1)) Expenditure accrued for creating concrete assets of a
Deficit material character.

d.  Monetary (iv) Resources gap in term of excess of total governmental
Deficit expenditure over revenue receipts and grants.

Codes :

a b c d
A) @) i) Gv) (1)
B) Gy @) @O Gv)
© Gy (@) aGv) (D)
(D) Gv) @) (i) @)
The rank of the post of Deputy Chairman of Planning Commission of India is equivalent
to
(A) Ministers of State (Independent charges)
(B) Ministers of State
(C) Cabinet Minister
(D) Cabinet Secretary

Consider the following statements regarding the Memorandum of Understanding for
Public Enterprises :

(i) Itis a mechanism to streamline interface between the government and the enterprise.

(i) There are two principal patterns of MOUs — French based system and the signalling
system.

(i11)) Pakistan and South Korea have signallilng system.
(iv) India had originally adopted the French system but recently followed the signalling

system.
Select the correct answer by using code given below :
Codes :
(A) (1) and (ii) (B) (1), (ii) and (iii)
(©) (), (iii) and (iv) (D) (1), (i1), (iii) and (iv)

Which of the following is not one of the objectives of industrial policy ?

(A) Accelerating the overall rate of growth.

(B) Employment generation and poverty reduction.

(C) Promotion of balanced industrial development.

(D) Promotion of industrial research and development exclusively in the private sector.
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63. g — 1 GET — 11 & 91 GAferd T | = 753 T el i FeTgal ¥ Tel ST B T5 DT ;

i | =t - 10
(AL (=TE)
. OSiTa = (i) WHR F G oo | gC

o @

o (i) R/ 9 3R 5 TRBR i oot T H g

T [l Jer  (iii) e FH i 2 TG % GO W g0 T

. T =T (iv) T Wl SR SFRHT W Fot YXhRT g i STeehal & T |
TTeT S HT

& o

E 4

a b c d
(A) @) (@) @av) (@)
B) () @G @ Gv)
© Gi) @@ av) (i)
(D) Gv) G @) @)

64. S % TSI AN o SUTee] o U8 7 | 9 fondar goemet &iem & 2
(A) T A (T TR) (B) T T
(C) FHfeme = (D) Hae gfaa

65. i ST % foIT Gl A9 & Tay | Frefeiad womt o faar i
() TE THR 3T 3TY &% 919 7. 9a9 H J96] - H TH T ¢ |
(i) T 0T 3T Hgifcreh Tl & - W ST HoTett 3T Hehaeh Homedt |
(iii) OTSREAT 3{IX STRTOT I | Gehereh WOTett & |
(iv) RS T R H I YOI hT 7T o7 TR &1eT § Tehelsh WOTGHl ol 3TER0T {6 € |
< T Tl § ¥ el I H 9 HIC

@‘:
(A) () 3 (i) B) (@), (ii) 3 (iii)
(©) (i), (iii) 3 (iv) (D) (), (ii), (iii) &R (iv)

66. FreTcIiEd & ¥ i SAiiTes Hiid & Sevdl § 9 Uh T8 ¢ 2
(A) T (I 3T H T UM AT |
(B) SFIR Go 3R e & &t |
(C) eifere afenfiTes fershra =t Sigrel <7 |
(D) et it &1 o 3feifiTer SFEyH Uel forehr =t sgmen 3 |
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67.

68.

69.

70.

Which of the following statements about Public Enterprises Selection Board are correct ?

(i) It makes recommendation to the Government for appointment to full time board
level posts.

(i1) It advises the government on appropriate organizational structure.
(iii) The Board was established in 1975.

(iv) It oversees management development activities of public enterprises.
Select the correct answer by using code given below :

Codes :
(A) (1), (i), (ii1) and (iv) (B) (1), (ii) and (iii)
(C) (), (1) and (iv) (D) (i), (iii) and (iv)

Which one of the following is the objective of disinvestment ?
(1) To improve public finance.

(i) To encourage wider share of ownership.

(iii)) To reduce financial burden on the government.

(iv) To introduce competition and market discipline.

Select answer from the codes given below :

Codes :
(A) (i) and (i) (B) (), (ii) and (iii)
(C) (1), (ii), (iii) and (iv) (D) (i), (iii) and (iv)

Rashtriya Uchchtar Shiksha Abhiyan (National Higher Education Mission) aims at —
(i) Providing greater autonomy to Universities and Colleges.

(i) Performance based funding of higher education in State Universities.

(iii)) Improvement in teaching-learning quality and research.

(iv) Bringing about reforms in the existing governance and regulatory systems.
Select the correct answer by using code given below :

Codes :
(A) (i), (ii) and (iii) B) (), (i), (iii) and (iv)
(C) (i), (iii) and (iv) (D) (i) and (iii)

Assertion (A) : New Public Administration questions the Principles of Science of
Administration.

Reason (R) : Frederickson describes New Public Administration as second generation
behaviouralism.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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67. Tk SEH TE OIS % aX H (FAfeiEd § ¥ i ¥ T el € 2
(i) T8 S TR F TaI ! QUehIicrsh i & folt TRepR ot Fawhier war ¢ |
(i) & TR & 3had GreTeHs S0aT T Geie Sl € |
(iii) oS T 1975 HgE T |
(iv) T HrEsTeh STH o T oehrd SHrisheil ol SEE el ¢ |
< 7 el ¥ el U H =TI I ;

T
(A) (), (i), (ii) 3R (iv) B) (i), (ii) R (i)
(©) (), (i) 3R (iv) (D) (i), (iii) 3R (iv)

68. T o § i= @ ferfrermT o1 Uk YT € 2
() i o H GUR &M |
(i) aHes o AT EER i e |
(i) THR W fa=ie et bl 9 T |
(iv) Uil a9 SR SR o |
< 7 el ¥ el U A =TI I ;

(A) (i) ¥R (i) (B) (i), (ii) W (i)
(©) (), (ii), (iii) 3R (iv) (D) (i), (iii) 3R (iv)

69. T STHCR VIR S B SR €
() TavafommeE SR Telfaamerl i sgav W@l UeH 6T |
() T fovatormerar § STaa 98T ot i FHoae ST e |
(i)  TereTor-Toret ToTer 3R STEEH | gER |
(iv) HISET I 3R fafamses wonferat § gar o |
e 7F el ¥ el U H =TI I
T
(A) (), (ii) 2R (iii) B) (i), (i), (iii) R (iv)
(C) (ib), (iii) 3R (iv) (D) (ii) 3R (iii)

70. ATAHUT (A) : T A TR, WG [T5 % [Hgidl T 938 AT ¢ |
T (R) : TSR 99 s YRIET o 9T fgid Tl o HaerdE & & § ol € |
&HT:
(A) (A) 3R (R) AT TE € 3R (A) H (R) Tl WL |
(B) (A) 3R (R) SHI Wl &, W (A) T (R) Fel TN T & |
(C) (A) T g R (R) TTE |
(D) (A) TTerd &, TR (R) W&l € |
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71.

72.

73.

74.

75.

Which programme of development was not conceived in response to the ‘felt needs’ of the
people ?

(A) Integrated Rural Development Programme
(B) Drought Prone Area Programme
(C) Command Area Development Programme

(D) Community Development Programme

Which one of the following is not a part of XI ™ Schedule of the Constitution of India ?
(A) Drinking Water

(B) Water supply for domestic, industrial and commercial purposes

(C) Animal husbandry, Dairying and Poultry

(D) Minor Forest Produce

Which of the following match is incorrect ?

(A) Ashok Mehta Committee = — Panchayati Raj Institutions

(B) L.M. Singhvi Committee = — Revitalization of PRIs for democracy
and development

(C) G.V.K.Rao Committee — Local Finance Enquiry

(D) A.P. Jain Committee — Rural-Urban Relationship

Which of the following is not correct in respect of Integrated Rural Development
Programme (IRDP) in India ?

(A) Itis self employment programme.

(B) It intends to raise the income generation capacity of target groups among the poor.
(C) Init, the pattern of subsidy is 25% for small farmers.

(D) Init, the pattern of subsidy is 25% for Scheduled Castes and Scheduled Tribes.

NGO s are classified into two groups by the World Bank as
(1) Advocacy (i1) Welfare
(i1i1)) Operational (iv) Opinion Raiser

Select the correct answer by using code given below :

Codes :
(A) (1) and (i1) (B) (ii) and (ii1)
(C) (iii) and (iv) (D) (1) and (iii)
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71. ffofad o @ 69 9 ST S SHeuT AN i ST STavaehdl ol AdiskaT & &9 § & i
TS ot ?
(A) TR TTHIOT T s
(B) @I GUI=T &1 HRIHH
(C) HHIUE & faIehT HEHA
(D) QTR T FrEsHT

72. T 0 @ B Q1 IR G o 116 ST 9T e § 2
(A) U e
(B) =, 3TNt 3R afuisarsh el ur s foawor
(C) TRIICH, ST F FeRpe e (diee)
(D) g aT 3R

73. THEAtAEd § ¥ $ q1 el gHferd T g ?

(A) 3T e |t — Y TS I

(B) U, et | —  Tdd 3R o & e demEr T S
(PRIs) &l TE-I10

(C) STat, & g —  EE o S

(D) TdrSH gt — TR Gey

74, IRA T TR ATHOT fhTT BRIHH (3T AL, & Ty § 77 § 9 9 T T & 2
(A) TE TSI HIEHA T |
(B) TTH 3EYT TS H AT THE i 3T 315 & H iy HAT ¢ |
(C) =T B fohami & AT 25% TsTaeredr & 9o ¢ |
(D) THY YA Sd qT ST ST % SR o [T 25% TSTEeraal & 9o el € |

75.  IR-EXHN WAl i [aea o gRT I ARl W S [ohaT T, ST 39 UER &

(1) TR (i) heamr

(i)  TETEHTHS (iv) SH9A e
< T Tl § ¥ el ST H 9T ST

FT:

(A) (i) FR (i) (B) (i) 3R (iii)
(C) (i) 3 (iv) (D) (i) 3R (iii)
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